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I. Choosé the correct answer: SX1l=5%
1. Who ended sultanate in Madurai? '
a) Saluva Narasimha b) Devaraya II
cyKumara Kampana d) Tirumaladeva Raya '
2. Who introduced Mansabdari system? :
/; a) Shersha _byAkbar c) Jahangir d) Shahjahan
~ 3. Electricity produced from coal is called
&)"ﬁ%ermal power b) solar power c) nuclear power d) Hydel power
4. Which one of the following is not a beach of India?
a) Goa b) Cochin +'t) Kovalam dyMiami
5. How many states exists in India? _
a)’29 _ b) 30 c) 27 d) 28
II. Fill in the blanks: 5x1=8§
1. The Governor is appointed by the 1:4.&5(,4’—/,/
2. AlWM™s S0l uced from bauxite ore.
3. Suruli falls is also called as L[m:( ool <alis
4, hﬁ"nka the name of the horse of Ranapratap
5. Red fort was constructed by  .shaf Thevi
III. Match the following: 4x1=4
1. Din - Ilahi -¥ China%
M 2. Silk . Akbary
2 3. Union territories - Wind energyis
4. Renewable resource s
seEnE001
IV. True or false: 2%1=2
q‘ 1. Humayan succeeded in recapturing Delhi in the year 1565. <7
2. Alasani peddana was the greatest of all Astadiggajas. 7
V. Find the add one out: 2x1=2

m e
X'y,

Harihara II,cMuhammad I), Krishna devaraya, Devaraya I.

Nainital, Shill , Munnar,|Di )
ainital, Shillong, Mu r,.Digha

Kindly Send Me Your Key Answers to Our email id - padasalai.net@gmail.com


https://www.whatsapp.com/channel/0029VaAqUqk9Bb672tBn033m
https://www.padasalai.net/

www.Padasalal.Net . www. Trb Tnpsc.Com

VII - Social Science

[ %]

VI. Consider the following: : 2x1=2
1. Which of the following statement is / are not correct?
To become a governor , one.
a) should be the citizen of India.
b) Should have completed 25 years of age.
' | ©) Should have Sound mind.
d) Shuld not hold any office of profit.

i)a&b (i) c & d (iii) a (iv) b -
2. Arrange in chronological order:

(i) Battle of Kaanva (i) Battle of Chausa

(iii) Battle of kanauj (iv) Battle of Chandari

VII. Give short answer. (any 5) 5%2=10
1. Write a note on battle of Talikota. ’
2. Write a note on “Golkonda fort”.
3. What are the causes for the battle of Panipet in 1526.
4, What do you know about Din - i-lahi. ;
5« Define 'Resource’.
6. What are the two types of coal? How it is classified?
7« What is a constituency?
- 8¢ Distinguish between Religious tourism and adventure tourism.
9. Define tourism.
VIII. Answer in detail . (any 4) 4x5=20
¥ Estimate Akbar as a patron of learning.
2. Discuss the causes for the decline of vijayanagar empire.
3. Explain the geogrpahical components of tourism.
4- Write a paragraph about the place you like to go for a tour.
57 Describe the power of Governor.
6. Distinguish between the following. v
a) Metalic and non metalic b) Biotic and Abiotic resources.
Z~Explain the different types of renewable resources.

IX. Map :

1. Mark on the outline map of India: .. 5x1=8
a. Mark the boundary of 'City of victory".
b. Talikota c. Devagiri d. Panipet . Delhi

2. Mark on the map of world outline: 5x1=58

a) any 2 places of solar energy (2)

b) one place of hydél power in India. (1)
c) One place of gold Producing area (1)
d) One place of coal production. (1)
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